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Double Stem-and-Leaf Plot Activity

Using data from the table below, create a double stem-and-leaf plot on a separate sheet of paper for the average monthly high temperatures for Pittsburgh, Pennsylvania and Phoenix, Arizona.

	Average Monthly High Temperatures*
(in degrees Fahrenheit)

	
	Pittsburgh, Pennsylvania
	Phoenix,

Arizona

	January
	37
	67

	February
	39
	71

	March
	50
	76

	April
	62
	85

	May
	71
	94

	June
	80
	104

	July
	85
	107

	August
	83
	105

	September
	76
	99

	October
	64
	88

	November
	53
	75

	December
	42
	70


                                                                         *data from weather.com

Once the double stem-and-leaf plot has been constructed, answer the questions below.

1.  What are two observations you can make about the data in the double stem-and-leaf plot?

____________________________________________________________________________________________________________________________________________________________

2. What is the range of temperatures for Pittsburgh?  ____________ How did you calculate the range? ________________________________________________________________________
______________________________________________________________________________

3. Is there a mode for the average high temperature for either city? If so, what is it? ___________

______________________________________________________________________________

4. Where do you see data clustered on your double stem-and-leaf plot? ____________________

______________________________________________________________________________

5. How would you estimate the median high temperature for Pittsburgh? ___________________

______________________________________________________________________________

Answer KEY 

Double Stem-and-Leaf Plot 

	leaf
	stem
	leaf

	Pittsburgh
	
	Phoenix

	9 7
	3
	

	2
	4
	

	3 0
	5
	

	4 2
	6
	7

	6 1
	7
	0 1 5 6 

	5 3 0
	8
	5 8

	
	9
	4 9

	
	10
	4 5 7


                                    4|6| = 64 degrees F                                   |6|7 = 67 degrees F
1. Answers will vary. Possible answers. Phoenix has warmer months than Pittsburgh. Pittsburg has no months with an average high temperature in the 90s. Phoenix has 4 months with the average high temperature in the 70s. Pittsburg has 3 months with the average high temperature in the 80s. Each side has 12 pieces of data. Both cities have one month where the average high temperature is 85 degrees.

2. Range for Pittsburgh = 85 – 37 = 48 degrees

   Range for Phoenix = 107 - 67 = 40 degrees

To calculate the range you subtract the lowest number from the highest number.

3.  No there is no mode for either city. No temperatures are repeated.

4. Answers may vary. There seems to be a cluster of data in the 70s for Phoenix.
5. To estimate the median you have to find the approximate number that is the middle number in a data set arranged sequentially. Since there is an even number of temperatures, you can count up 6 numbers from the lowest temperature and count down 6 numbers from the highest temperature. The estimated median for the high temperature in Pittsburgh would be between 62 and 64.

